UGC NET 2021 Gujarati
Topic:- 37Gujarati_A
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[Question ID = 507][Question Description = Q01_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2025]
2. 2 [Option ID = 2026]
3. 3 [Option ID = 2027]
4. 4 [Option ID = 2028]
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[Question ID = 508][Question Description = Q02_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2029]
2. 2 [Option ID = 2030]
3. 3 [Option ID = 2031]
4. 4 [Option ID = 2032]
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[Question ID = 509][Question Description = Q03_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2033]
2. 2 [Option ID = 2034]
3. 3 [Option ID = 2035]
4. 4 [Option ID = 2036]
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[Question ID = 510][Question Description = Q04_Gujarati_SHAAN_NOV20_shift1]



1 [Option ID = 2037]
2 [Option ID = 2038]
3 [Option ID = 2039]
4 [Option ID = 2040]
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[Question ID = 511][Question Description = Q05_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2041]
2. 2 [Option ID = 2042]
3. 3 [Option ID = 2043]
4. 4 [Option ID = 2044]
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[Question ID = 512][Question Description = Q06_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2045]
2. 2 [Option ID = 2046]
3. 3 [Option ID = 2047]
4. 4 [Option ID = 2048]
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[Question ID = 513][Question Description = Q07_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2049]
2. 2 [Option ID = 2050]
3. 3 [Option ID = 2051]
4. 4 [Option ID = 2052]
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[Question ID = 514][Question Description = Q08_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2053]
2. 2 [Option ID = 2054]
3. 3 [Option ID = 2055]



4. 4 [Option ID = 2056]
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[Question ID = 515][Question Description = Q09_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2057]
2. 2 [Option ID = 2058]
3. 3 [Option ID = 2059]
4. 4 [Option ID = 2060]
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[Question ID = 516][Question Description = Q10_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2061]
2. 2 [Option ID = 2062]
3. 3 [Option ID = 2063]
4. 4 [Option ID = 2064]
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[Question ID = 517][Question Description = Q11_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2065]
2. 2 [Option ID = 2066]
3. 3 [Option ID = 2067]
4. 4 [Option ID = 2068]
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[Question ID = 518][Question Description = Q12_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2069]
2. 2 [Option ID = 2070]
3. 3 [Option ID = 2071]
4. 4 [Option ID = 2072]
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[Question ID = 519][Question Description = Q13_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2073]
2. 2 [Option ID = 2074]
3. 3 [Option ID = 2075]
4. 4 [Option ID = 2076]
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[Question ID = 520][Question Description = Q14_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2077]
2. 2 [Option ID = 2078]
3. 3 [Option ID = 2079]
4. 4 [Option ID = 2080]
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[Question ID = 521][Question Description = Q15_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2081]
2. 2 [Option ID = 2082]
3. 3 [Option ID = 2083]
4. 4 [Option ID = 2084]
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[Question ID = 522][Question Description = Q16_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2085]
2. 2 [Option ID = 2086]
3. 3 [Option ID = 2087]
4. 4 [Option ID = 2088]
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[Question ID = 523][Question Description = Q17_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2089]
2. 2 [Option ID = 2090]
3. 3 [Option ID = 2091]
4. 4 [Option ID = 2092]
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[Question ID = 524][Question Description = Q18_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2093]
2. 2 [Option ID = 2094]
3. 3 [Option ID = 2095]
4. 4 [Option ID = 2096]
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[Question ID = 525][Question Description = Q19_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2097]
2. 2 [Option ID = 2098]
3. 3 [Option ID = 2099]
4. 4 [Option ID = 2100]
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[Question ID = 526][Question Description = Q20_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2101]
2. 2 [Option ID = 2102]
3. 3 [Option ID = 2103]
4. 4 [Option ID = 2104]
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[Question ID = 527][Question Description = Q21_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2105]
2. 2 [Option ID = 2106]
3. 3 [Option ID = 2107]
4. 4 [Option ID = 2108]
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[Question ID = 528][Question Description = Q22_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2109]
2. 2 [Option ID = 2110]
3. 3 [Option ID = 2111]
4. 4 [Option ID = 2112]
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[Question ID = 529][Question Description = Q23_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2113]
2. 2 [Option ID = 2114]
3. 3 [Option ID = 2115]
4. 4 [Option ID = 2116]
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[Question ID = 530][Question Description = Q24_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2117]
2. 2 [Option ID = 2118]



3. 3 [Option ID = 2119]
4. 4 [Option ID = 2120]
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[Question ID = 531][Question Description = Q25_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2121]
2. 2 [Option ID = 2122]
3. 3 [Option ID = 2123]
4. 4 [Option ID = 2124]
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[Question ID = 532][Question Description = Q26_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2125]
2. 2 [Option ID = 2126]
3. 3 [Option ID = 2127]
4. 4 [Option ID = 2128]
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[Question ID = 533][Question Description = Q27_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2129]
2. 2 [Option ID = 2130]
3. 3 [Option ID = 2131]
4. 4 [Option ID = 2132]
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[Question ID = 534][Question Description = Q28_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2133]
2. 2 [Option ID = 2134]
3. 3 [Option ID = 2135]
4. 4 [Option ID = 2136]
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[Question ID = 535][Question Description = Q29_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2137]
2. 2 [Option ID = 2138]
3. 3 [Option ID = 2139]
4. 4 [Option ID = 2140]
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[Question ID = 536][Question Description = Q30_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2141]
2. 2 [Option ID = 2142]
3. 3 [Option ID = 2143]
4. 4 [Option ID = 2144]
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[Question ID = 537][Question Description = Q31_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2145]
2. 2 [Option ID = 2146]
3. 3 [Option ID = 2147]
4. 4 [Option ID = 2148]
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[Question ID = 538][Question Description = Q32_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2149]
2. 2 [Option ID = 2150]
3. 3 [Option ID = 2151]
4. 4 [Option ID = 2152]
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[Question ID = 539][Question Description = Q33_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2153]
2. 2 [Option ID = 2154]
3. 3 [Option ID = 2155]
4. 4 [Option ID = 2156]
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[Question ID = 540][Question Description = Q34_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2157]
2. 2 [Option ID = 2158]
3. 3 [Option ID = 2159]
4. 4 [Option ID = 2160]
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[Question ID = 541][Question Description = Q35_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2161]
2. 2 [Option ID = 2162]
3. 3 [Option ID = 2163]
4. 4 [Option ID = 2164]
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[Question ID = 542][Question Description = Q36_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2165]
2. 2 [Option ID = 2166]
3. 3 [Option ID = 2167]
4. 4 [Option ID = 2168]
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[Question ID = 543][Question Description = Q37_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2169]
2. 2 [Option ID = 2170]
3. 3 [Option ID = 2171]
4. 4 [Option ID = 2172]
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[Question ID = 544][Question Description = Q38_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2173]
2. 2 [Option ID = 2174]
3. 3 [Option ID = 2175]
4. 4 [Option ID = 2176]
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[Question ID = 545][Question Description = Q39_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2177]
2. 2 [Option ID = 2178]
3. 3 [Option ID = 2179]
4. 4 [Option ID = 2180]

40 NAcipieN s vowA SRIE 210 2lBcar @9 Ruren 59 ol ?



(1) 9= caiele
@  doarllal Sisix)
(3) g2l Rausx

@  Ras ke

[Question ID = 546][Question Description = Q40_Gujarati_SHAAN_NOV20_shift1]
1 [Option ID = 2181]
2 [Option ID = 2182]
3 [Option ID = 2183]
4 [Option ID = 2184]
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[Question ID = 547][Question Description = Q41_Gujarati_SHAAN_NOV20_shift1]
1 [Option ID = 2185]
2 [Option ID = 2186]
3 [Option ID = 2187]
4 [Option ID = 2188]
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[Question ID = 548][Question Description = Q42_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2189]
2. 2 [Option ID = 2190]
3. 3 [Option ID = 2191]
4. 4 [Option ID = 2192]
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[Question ID = 549][Question Description = Q43_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2193]
2. 2 [Option ID = 2194]
3. 3 [Option ID = 2195]
4. 4 [Option ID = 2196]
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[Question ID = 550][Question Description = Q44_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2197]
2. 2 [Option ID = 2198]
3. 3 [Option ID = 2199]
4. 4 [Option ID = 2200]
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[Question ID = 551][Question Description = Q45_Gujarati_SHAAN_NOV20_shift1]
1 [Option ID = 2201]
2 [Option ID = 2202]
3 [Option ID = 2203]
4 [Option ID = 2204]
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[Question ID = 552][Question Description = Q46_Gujarati_SHAAN_NOV20_shift1]
1 [Option ID = 2205]
2 [Option ID = 2206]

3 [Option ID = 2207]
4 [Option ID = 2208]
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[Question ID = 553][Question Description = Q47_Gujarati_SHAAN_NOV20_shift1]
1 [Option ID = 2209]
2 [Option ID = 2210]
3 [Option ID = 2211]
4 [Option ID = 2212]
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[Question ID = 554][Question Description = Q48_Gujarati_SHAAN_NOV20_shift1]
1 [Option ID = 2213]
2 [Option ID = 2214]
3 [Option ID = 2215]
4 [Option ID = 2216]
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[Question ID = 555][Question Description = Q49_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2217]
2. 2 [Option ID = 2218]

3. 3 [Option ID = 2219]
4. 4 [Option ID = 2220]
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[Question ID = 556][Question Description = Q50_Gujarati_SHAAN_NOV20_shift1]
1 [Option ID = 2221]
2 [Option ID = 2222]

3 [Option ID = 2223]
4 [Option ID = 2224]
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[Question ID = 557][Question Description = Q51_Gujarati_SHAAN_NOV20_shift1]
1 [Option ID = 2225]
2 [Option ID = 2226]

3 [Option ID = 2227]
4 [Option ID = 2228]
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[Question ID = 558][Question Description = Q52_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2229]
2. 2 [Option ID = 2230]
3. 3 [Option ID = 2231]
4. 4 [Option ID = 2232]

> e HeolyRoll Hut w12

(a)  2itlasd uealda e

®)  echion 391 duisd weidl
) =iechigion eisal 2uwe 524
D)  2iesd e 2l i

(E) A9 2Alda 218aig &l said]

alRAaigll =iloz [Ascu uHE s: :

(1) (A) HI2
(2) (A B). (E)HM
(3) (B). (C), (D) ¥
(4) (E) Hioi

[Question ID = 559][Question Description = Q53_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2233]
2. 2 [Option ID = 2234]
3. 3 [Option ID = 2235]
4. 4 [Option ID = 2236]
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4. 4 [Option ID = 2368]
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2. 2 [Option ID = 2374]
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[Question ID = 597][Question Description = Q91_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2385]
2. 2 [Option ID = 2386]
3. 3 [Option ID = 2387]
4. 4 [Option ID = 2388]
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[Question ID = 598][Question Description = Q92_Gujarati_SHAAN_NOV20_shift1]
1 [Option ID = 2389]
2 [Option ID = 2390]
3 [Option ID = 2391]
4 [Option ID = 2392]
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[Question ID = 599][Question Description = Q93_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2393]
2. 2 [Option ID = 2394]
3. 3 [Option ID = 2395]
4. 4 [Option ID = 2396]
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[Question ID = 600][Question Description = Q94_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2397]
2. 2 [Option ID = 2398]
3. 3 [Option ID = 2399]
4. 4 [Option ID = 2400]
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1. 1 [Option ID = 2401]
2. 2 [Option ID = 2402]
3. 3 [Option ID = 2403]
4. 4 [Option ID = 2404]
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[Question ID = 602][Question Description = Q96_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2405]
2. 2 [Option ID = 2406]
3. 3 [Option ID = 2407]
4. 4 [Option ID = 2408]
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[Question ID = 606][Question Description = Q100_Gujarati_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2421]
2. 2 [Option ID = 2422]
3. 3 [Option ID = 2423]
4. 4 [Option ID = 2424]

Topic:- General Paper_Set1_A

1)

Conszider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% X2
Sales (SA) 12% (ol
Construction and Maintenance (M) 9% %
Professional (PR) 18% 5:7
Management (MA) 21% Jud
Production and Transport (PT) 19% g
Others (OT) 6% 2:h
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fawe (%) oo | w-afeen ogae (707 )
a1 (uF ©) 15% 3:2
T (A T) 12% 5:3
Fmior 3fft sream (d o) 9% 5:4
TrFTEe () 18% 5:7
TauF (UH 1) 21% 3:4
IearE ARt (d #) 19% H:8
=7 (=1 &) 6% 816

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

Tt & i e g wEee i ITiHd T #4027 (S9Hed & g 9 aF)

(1) 6.39 W@ (2) 4.69 @@

(3) 5.96 @G (4) 7.48 @@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1 [Option ID = 8025]
2 [Option ID = 8026]
3 [Option ID = 8027]
. 4 [Option ID = 8028]

A wN =

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (S3E) 15% 32
Sales (SA) 12% B3 3
Construction and Maintenance (M) 9% H:4
Profezsional (PR) 18% 5h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% FraE
Others (0OT) 6% ]
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a1 (uF ©) 15% 3:2
T (A T) 12% 5:3
Fmior 3fft sream (d o) 9% 5:4
TrFTEe () 18% 5:1
TauF (UH 1) 21% 3:4
IearE ARt (d #) 19% H:8
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The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?
(1) 330% (2) 318%
(3) 320% (4) 80%
Ug $ o ot S &R H e Afee #eee i $e gen d vh A ° Seig g wEee 6 e w5

(1)  330% (2) 318%
(3)  320% (4)  80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: B
Service (SE) 15% 3:2
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% b: 7
Management (MA) 21% 3:4
Production and Transport (PT) 19% s
Others (OT) 6% *h

et arfers m famm Hifsw fSed vk 33 5o ad § 1o o f@fes @i | e % weEse # aidea
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wfeer (%) fere | geg-wfeen wigam (709 )
a1 (TF ©) 15% 372
ey (ug ) 12% 5:3
fomto it sram (d ) 9% 5:4
TETHE (i ) 18% 57
TEgT (TH ©) 21% 3:4
JoareA i it (fF #) 19% 518
w1 (= ) 6% 3:5

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH U 37 TR U A H FEEd qEY weed f Fe e O 2 &9 § w0 w6 Fe e w5 e



1EGELR IGEIG R

(1)  82% @) 87%
(3)  89% (4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distrmbution M:F)
Service (SE) 15% 32
Sales (S8A) 12% 52 3
Construction and Maintenance (M) 9% H:4
Profezzional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F
Others (OT) 6% 1D

FfatE e W fa=m fifsw 5o o 57 50 99 1 oW % f5fim g § 9ne F e w5 ot
(%) faemor Qo geg-ufeen wEEe wquE g9 T 2| '@l &6 % Per wEed H @ed 80 @ng
Alfer=hl ® T2 710 377 = YR W UvH = S g1ty

afaea (%) e | I-afeen @ gaa ( 707 )
= (uE ©) 15% 359
T (T T) 12% H:3
fmtor #iw srgeam (o) 9% 5:4
mHEeEE (i ) 18% 57
auF (UH 1) 21% 3:4
Ieared 3R ufEea (d &) 19% 58
a7 (=1 ) 6% 4.8

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

THE U 37 TH U SF1 § WG Gieen wEEae St Fe e 3R 0 F 89 4 S aten seee i w5 w5
':H?R '\:L'i. I %?

(1) 5.1 <@ (2y 7.5¥mg

(3) 5.7 @G (4) 13.2 9@

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]



3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% )
Sales (SA) 12% Sl
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% B
Others (OT) 6% ]

ffafed oifes = faam fifse 5o o 57 5o ad 4 toFm = fafim aaf © e % s =1 afaem
(%) faamm w1 ge9-afeen FEEs e F@E T 2| B & % He wEed i w80 od E
AiferT § 2 U SATRs] % YW W YTE % 39 alAu)

WA % FHEEE 1 HFaT G

e (%) faee | gea-afeean sge@ ((7: 9 )
e (ug €) 15% 312
Teg (ug ) 12% 5:3
Frmior aftt srpem (d ) 9% 5:4
TrFeEe (f 2) 18% 5:7
eE (TH T©) 21% 3:4
Ieare ¥R ufeEe (d #) 19% 5:3
a7 (= &) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?
(1)17:39 (2) 16 : 37
(3)16 : 35 (4) 16 : 39
of vw & | weEd afEen wEwe S g A d 9w va o F sl d S gey wEee $ Fe ge &
N

AT FT B Y
(1) 17:39 (2) 16:37
(3) 16: 35 4y 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1 [Option ID = 8041]
2 [Option ID = 8042]
3 [Option ID = 8043]
4 [Option ID = 8044]

A W N -

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

- _— - o - - - . - o . - -



HEAT = T=RH ¥ H HE&A SN =ERE AR J51 =0 UTEA 1 AR 3HF =A% TEgarion 9 gl & ¢
(1) =g &= (2) wEEY T
(3) HH = (4) AT FEm

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8045]
2. 2

[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafafas T afmfs wem auae £ 9= 2 58 sems wedft fafim aat & meam | ot e

T B | 3 I S SHgER SEE i AHaTT 2| 39H O S 1 GEa SudEn e % A o1l | 7

(A)  sTEr-mEa (W)

(B) e

(D)  ==ET

(E)  =weigan

e feu o faskeqi # @ wF TR 1 = AR

(1) (&) =R (B)
(2)  (B) 3R (0)
(3) (D) = (E)
(4)  (B) R (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il
. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.



List I Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (l) Using Swayam and Moocs

(B) Open and distance learning method (ll) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(h, (B)-(I1), (C)-(IN), (D)-(IV)

(2) (A)-(1n), (B)-(IV), (C)-(1), (D)-(1)

(3) (A)-(IV), (B)-(lI), (C)-(I1), (D)-(1)

(4) (A)-(I1), (B)-(1), (C)-(1V), (D)-(l1)

g1 % =y g1 =1 faem ifse) g1 8 3=5 wfirm gt F e i & & 0 2, 5=t 3=
11 9 wieams fateen =1 uqEeiea a8 51 a5 & 78 2]

- I

foreqor =it fateren T FEH i qFAE
(A) AT T AR A (I)  T=599 31 g3 =1 7=
(B) T IR gt wtfgm fafy (II) wfswfa Faeamens® 954
(C) Taregm = Safws fata (IIT) Hisgew AJ2amen= A
(D) oz =it iy fafa (IV) wferat & ang-any fames ue

Jrr fou o fasedi @ @ wE 3w w1 ==a e

(1) (A)-D. (B)-AI), (O)-(II), (D)-(IV)
@) (A)-IID. B)-AV). (C)-(I). D)-1I)
3)  (A)-AV). B)-(IID). (C)-1D. D)-I)
(4) (A)-(IT), (B)-(I). (C)-(IV). (D)-(IIT)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (ll) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I) and Statement (ll) are correct

(2) Both Statement (l) and Statement (ll) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (l) is incorrect but Statement (ll) is correct

= a1 e fau o F

F27 () : IIted A SATEEa wE R WA % §E S IR aFar Y S HeE

w7 (1I) : T wAfhed TET 2N wAdE Sthdcs Wi wiETdal & e seen 7 e
AT 7 % TEEE H AN A 2

W FUA AT |, 4 70 e 8 6 weE 39 3 R =94 S

(1) =9 (1) =i (I1) 31 =& 2

iy Y O T Wy | i, fi (S ENIEE. o



b e s B At e I o’ ot e M, T L S o e B 4]

(3) A (D) 9a 2, @fd = (I0) 7o 2

(4) == () =4 2, dfFT 99 (1D 58t 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

F= =1 wue fou w B vw wfaE9 (Assertion A) F ®9 ¥ fofgd & A LR 3u% F0 (Reason R)
% w9 H

wfiEpe (A) o A anygfree sfi g @ A smaE geEE gl = Al s st i
F1 T2A9 FAA 2|

FW (R) : foredt wurht foreror memar wonedt = At afifEata d gaw F @y w@g e S
=tET|

I HYH & W °, 4 2 e el | 9 gd 3 o 999 it

(1)  (A) 31 (R) 3H1 Te9 & 21T (R), (A) 1 et =g 2
(2)  (A) Fi(R) 3T Te7 &, wiA (R), (A) Ft oel =g == 2
(3) (A @™ 2, #@5 (R) 3739 2|

4)  (A) 3@ 2, A (R) 77 2|

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

TrE TR % T H UiEET-uies = ueEitEd e S E v

(1) et g (2) fETfaE
(3)  =AEETEE WY (4) TETEEE Ty

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of

research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)



(3) (€) and (D)
(4) (D) and (E)

e ufieor fogeft afiorfa = &t sifagfe =1 smfe w9 4 a6t &, o 1 fF=fafeg 9 9 & ke

= FIE FUFN 27

() T

(B)  wEITIeR= &g

(C) =R &t
(D) et &l

(E)  =amEmcq= fara

= fau T faskeat ® @ wEl Sw W = A

(1) (A 31 (B)
2 (B)#R(C)
(3)  (C) 3w (D)
4 (D) &R (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List I  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (lI) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1n), (B)-(IV), (C)-(I), (D)-(1)

(2) (A)-(D, (B)-(I1), (C)-(IN), (D)-(IV)

(3) (A)-(I1), (B)-(lI), (C)-(1), (D)-(IV)

(4) (A)-(I, (B)-(1), (C)-(I), (D)-(1V)

-1 % =19 g=-11 1 fiem Fifae) g1 8wy & =20 920 2, 9906 g1l | 3 g 0G5 ahAE

i g1
MY * = T H 1S ST T
(A)  mEET g (I) TS =1 TR T aTh TR
(B) ufsheur fmior (IT) U= Te U2 ¥ 3HEAT H o0
(C) wfe=s afs=n =1 =29 (II) =9 = &= § §eF 794 336
(D) =TeT fagem (IV) =08 = =@ = o= gey T w0

e fou v faseul § °© wE 3T %1 999 iU

(1) (A)-(II1). (B)-AV). (C)-(I1D). (D)-(I)
(2) (A)-(D. (B)-aD. (C}-(IID. (D)-(IV)
(3) (A)-(II), (B)-(I1L), (C)-(I). (D)-(IV)
4) (A)-(IIT), (B)-(I), (C)-(II), (D)-(IV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]



2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (l) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement () is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

= 21 = f2u T #

w1 (D) U WH-TEE N AY-UF ° ogd N @A % ey AR el % si" i A T8
For (I1) ot wEHt s wR T ST w9t e * o a2

IYIIh HYH % e 1, 4 fau e el | 9 wd 3 99 it

(1) =9 (D) # (1) 391 5 2]
(2) = (D) & (1) 241 318 2
(3) =9 (1) |ed 2, @ #99 (1) 39 2

(4) = (I) *ed &, ©fFa %o (1) a3 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

d= @1 F9A U 0 F :ouF afFud (Assertion A) F w9 | fafad # @ gE0 3WH FA0 (Reason R)
% = H -

AR (A) et wg wieRewn (Hy) =1 FersmfiE afimesn (Ho) = gerar ° giem B s

=T
FET (R) : Sitg witheraT (Hi) =i ohaid i AM9gfe @g =9 3 81 i 51 @i 2|

IUITE YA A 1, S Eu e e § 8 wey 3ugs 3 6 99 Fiian

(1) (A) 3 (R) I =&l 3 3R (R), (A) Fi = ==aw= 2
(2) (A 3 ®) 3 wE 3, T R), (A) Fi w0 = =@ 2
@) (AT R, @ R) wE T 2
4) (A =E E 7, = (R) TR R



[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

g TE UiTe e ad TS UF e Fetatad @ | e At s w2 e
(1) 30 sFait (2) 30 W8
(3) 15 s (4) 15T

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

o FmmmT 1 ad-fE (ST) "Let truth prevail 27

(1) fz == (2) TEE AE T
(3) ffe=m (4) =afeg

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

I= F‘:T 9 2w TIT’ﬁ . U ATEEYE (Assertion A) % #9 § foifiaa % i T 3% FET (Reason R)
+E]H

R (A) Al TERY (FTe=re) SuaHa Afas Fafweie 5 ow0E war &, g T8 difsa
i 9% | 39 U9 92 W 2

F0 (R) ; SeTz g (wiswe) difsa w dwwf 2 i 2 v 2
I FYT T A A, 4= 70 T e 8 8 wee S S5 R =9 i

(1) (A) % R) IA FE F 30 R). (A) F 76 =0T 7

(2) (A 3 (R) IF TE E, =06 (R), (A) i T2 = w6 2
(3) (A = 2, i (R) @E 44 2

4)  (A)=E FE 2, wfw (R) WA )

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in



what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

TGN F I &7 7g WA U AqEHes (R TR § UF TR e J At @e gee

(A)  wErE faEE fEtan i ama ) mE e F

(B) 3o ™ affar S & Ty uieer 29 % o)
(C)  a7efER 1 o e #1 T §EE 6 e

(D) =& uwon =sAE % forn 6 difear =1 were v it = 2

Hr e o fasedl ® @ G=E IUgE I 1 TEA R
(1) =& (A) ¥ (B)
(2) =& (B) 31T (C)
(3) === (C) 3 (D)
(4)  Fae (A) FR(D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

Hr= &t 2 gt F O mmw i aEmeE st = e fifm

(&) TR
(B)  oFgzEal
(© TEmE
(D) o=

(E) = =14 541

= fou o faweul ® © wE 39 %1 999 FiAu

(1) == (A (B aET 0N



(2)  Faa (B). (C) 377 (D)
(3)  Fa9 (C), (D) 3 (E)
(4)  =aE (A), (C) #H (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

T g4 % A UF NN S oI o0 U9 3 BEEl H 4000 T, 399 ATH 4 HEAl § 4500 w9
#n AW 5 WEA #5000 FE 47| 7 W A9 % MW FA w=a 5000 ¥ A 41 39 wEw # oo
AIEF w7 AT 417

(1) 3000/- =% (2) 4000/- =

(3) 5000/~ =7 (4) 6000/ =7

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75 (4) 56.75

70 ¥ 90 = == 1 W FHSE WEAA] T A g0 -

1) 765 (2) 98.25
(3)  55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% A 33 W g9 sEH W 11 S 39 F fawd gem F sew A wfa Fa @) giowa J anw

wdqid, :

(1) 25% @) 50%
(3)  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

a7 foret =g 1 =T e 3 fawa 9eE # 95% B A e i ioerar w7 2 7



(1) 4.26% (2) b5.26%
(3) 2% 4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?
(1) Rs. 1,600/- (2) Rs. 2,000/-
(3) Rs. 2,080/- (4) Rs. 1,560/~
7tz w5 =afw fawet awg +1 25% wiewd 6 w1 @ 38 1200/ #99 & s=a1 2 1 30% =+ @9 FAH &

feru 38 3@ awg =i o Fima W ST TtET e

(1)  1600/- =73 (2) 2000/- ==
(3)  2080/- ®w (4) 1560/- =

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

T AW 9 ® A w freAtatea § 3w ww wwa g 6 e aE e sy meeEa W

AT 2 7
(1)  wamE (2) 1gEN
(3)  FumH (4) TSRS

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

A FROIE o FFHN HHE * WHeA H T 1 HEl %E o R

(&) frEmd far =@ sEE i wEE T w FeE (37)
(B) =i # FoH (29)
() ifqamon $i fagh % =9 1 gfe ()

(D)  sAtqamen #1 F99 (Jfaw)

(E)  Tafza f=m =1 22mm 2= (Z=mm)



= fau o ool ® O wE I 1 999 FitAu

(1) (D). (E). (A). (C). (B)

(2) (D). (C). (B). (A). (E)

(3) (D), (B). (E). (A). (C)

(4) (D), (E). (A). (B). (C)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) WWhich of the following schools of Classical Indian Philosophy reduce Sabda pramana
(verbal authority) to inference?
(A) Nayava
(B) Vaiéesikas
(C) Buddhists
(D) Mimamsa

(E) Carvaka/Lokavata

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2) (B). (C) and (E) only
(3) (B) and (E) only
(4) (A), (D) and (E) only

T GNAR Z9A9E i A -E WEEE 95 THO H SGEE AT gl 2
(A) ==

(B)  Asify=

(€ dig

(D) =

(E)  =mars /e

Hre fou U faheqi § © @E 3T = =G whifAC

(1)  =ae (B) #1 (C)
(2) === (B). (C) w0 (E)
(3)  =haw (B) 31 (E)

(4)  =Haw (A). (D) 31 (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]



24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (I) and Statement (Il) are true
(2) Both Statement (I) and Statement (ll) are false
(3) Statement (l) is true but Statement (ll) is false
(4) Statement (l) is false but Statement (ll) is true

=t 3t o fam o #
Fa7 (D) : T WRATE THATE % SAR T e e e 5 H 4 Er 2l
o (1) At W= T el gal 2 6 26 TEE 0wn @ sEm e =iEn atew e T8

waTdl 2 6 56 aEE o 2

ITTE U % A °, dr= B T e § ® mE 39 w0 =ae i

(1) =99 (1) 3w (1) 2F1 |ed 7
(2) = (1) A (1) 21 F1Eed B
(3) T (I) 7 2, #AiF= w9 (I1) 59 2|

4 = (1) 716cT &, =k e (1) 909 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (1) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

gfi-1 = = g=i-11 =1 fae i)
-1 11
T & GEZIEe]
(A)  Frframon 6 warie & w9 4 gie (Iy =&l ga1f &1 & 98l 07 il # Sod Wi
|
(B) =T I FHIH (II) 9eTsl 9T 317 &)
(C) fafea Fam =1 sgmaw 2 (IIT) =HTT Ta1E] 0 2077 2|
(D) g =1 AT AR # wu (IV) it F&1 gt 21

H fou 7o fashedi @ § @& 3T 0 =44 iU

(1) (A)-(I). (B)-(IIT), (C)-(IV). (D)-(IT)



(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(1I)
(3) (A)-(IIT). (B)-(IV). (C)-(I). (D)-(I1I)
(4) (A)-(ID), (B)-). (C)-(I1T). (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

UF W75 E HOEI 9 ' B § UF A9 Hise @ o9 ®1 A e 2 fed e faga o gua w2 aw
w1 el S92 7Sl H A9ET SRR B Bl SR a9 § 4 2

(1) o= (fa) = (2) w1 ST
(3)  difers &2 1S TiEA (4) we =i St e

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= = FuA 5y v # ;v wfiemue (Assertion A) % %9 H fafigd ® A ZH 0% %00 (Reason R)
FETH

AFYE (A) TTee T AT REE H U ST [ SEeas w0 ° SR e |nae)
F1 (R) A FR wee Hig R W AE | gaiE A5 e @ |

I FYA o AEF H, 219 20 T fame § W 39 w0 99 i

(1) (A) 3T (R) 3H1 709 £ 2 (R). (A) Fi 78 =men 2)

(2)  (A) 37 (R) 3F1 &7 &, S (R). (A) 1 w8t = 76 2|
(3) (A=A, wf (R) 5787 2

(4)  (A) 37 B, AFF (R) O 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :
(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)



(4) (D), (C), (A), (B)
e WE © HEE D1 GG % w9 1 g e SEae % 98 FH s Te=E i)

(A) 1500 M Bytes
(B) 5 K Bytes
(C) 1 G Bytes

(D) T Bytes

H= fou o fashedt @ § @E I w1 =99 i

(1) (D). (A). (C). (B)
(2) (A, D). (C). (B
(3) (A). (B). (C). (D)
(4) (D). (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

FAEEE % FEY # A gy 3 aE-wE A ge 7, A g wUF ffr g

T é-é 1 o gy @ W A
TR AD ATS-TFTS  HISAS W SSEd i ST el AT A I H ST A A w 2|

IV FHUA F A 0, T B et § 0 wE 39w = i

(1) = (D) =0 (I0) 241 @ea 3
(2)  Fue () & 1D I F=eT B
(3) A (1) ®eA 2, Wik w9 (II) 379ed 2|

(4) =9 (I) 99T &, wifba ®9A (1D 99 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List Il :



Tet-1 % e g=-11 1 e Fifm)

FA-I FA-II
(FFrege rfeaTius 77e2) (vrT=)
(A) OCR (I) ZFFA =1 seataiEa Z=aEal &1 &3 F4 5
fem wge = 2
(B) OMR (1) wE-Taeda wemsi § 3% 729+ % o
(C) Email (ITT) STEA=e= FrgHHT
(D) Instant Messaging (IV) #HFAH q]ujH—:h.(H

= fau o fakeai | @ wEl Sw W = A

1) (A)-AD. B)-d). (C)-AV), (D)-IID)
(@) (A)-AD. B)-d). (C)-ID). (D)-AV)
(3)  (A)-D. (B)-AD). (C)-(IID). (D)-IV)
@)  (A)-D. (B)-AD), (C)-(IV), (D)-(I1D)

Match List I with List IT :

List I List IT
(Computer Terms) (Purpose)
(A) OCR (I) Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinations
(C) Email (IIT) Asvnchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :

(1) (A)-(IT), (B)-(D). (C)-(IV). (D)-(I1II)

(2) (A)-(IT), (B)-(I), (C)-(I1D). (D)-(IV)

(3) (A)-(I). (B)-(II), (C)-(11II), (D)-(IV)

(4) (A)-(D). (B)-(II), (C)-AV), (D)-(I1I)
[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

Frefafiga § o ®i9-o1 vH FTH 1 S0 FE e T 2
(1) Eow SEAFESS (2) faemes TS
(3)  HEA SEATEES (4) e

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power



(3) Coal (4) Hydro Power

Frferfiga & & F-m w91 w6 g 591 w5 =9 A6 2 7
(1) == st (2)  TEA F
(3) = (4) F=fEE

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

Frefafaa ¥ 9 F9-5f wHfH A9ET ST At B dR I ATHIGE TR T T #
(1) 9™ (2) waETHE TR
(3)  w=EmH (4) TEA

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

o

qFA TR I wEEE w5 G % #5859 § NMSHE Fefatad § 8 e aamem 27

(1) National Miszion on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayvan Ecosystem
(3 National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

frafefias & o f77 Teuet 1 s 79 B A e S Aear TiEdd W 27

(A) I SEATEES
(B) =R 9214 (PMas)
(C) A=

(D) o

(E)  Tegd HAierss



= T TE o 9 9 T I 99 hia

(1) =& (B), (C) =1 (D)
(2)  =Hae (A). (B) 31 (C)
(3)  =Hae (B) 3 (D)
(4  Fad (B) ¥ (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
= foren = wed H, uEEE S=ae FEeE § e e § ve uggs dan 9 fuife e fo
Frfetaa § 9 fra adm e fame =t fem faar an?

(1) 7 (2) g
(3) wWHImA (4) T HI A

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
List1 ; ; ; ;Listll

(A) NAAC ; ; (l) Delhi

(B) NIEDA ; ; (Il) Bengaluru

(C) NDRI ; ; (lll) Lucknow

(D) CDRI ; ; (IV) Karnal

711 % =y g=-11 %71 faem fifsm)
g=fi-1 F=f-11
(A) TATTH O TE@l
(B) mEEIdT (II) #ra=
(C) A S wW A (II) =&+
(D) i g =1 s (IV) ==

J= fou o fasedi @ © @E 3= 1 ==A i

(1) (A)-(ID), (B)-(IID), (C)-(T), (D)-(IV)
2 (A)-AD. (B)-{). (C)-(IV), (D)-(I1I)
3)  (A)-IID), (B)-AD). (C)-). (D)-(IV)
4)  (A)-IV). (B)-(IID. (C)-(II), (D)-T)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?
(A) Articulate new directions for research and innovation in technology.
(B) Provide a platform for free exchange of ideas on use of technology to understand learning.



(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

7% fem Hify (w3 £ 1)-2020 4 w3 £ # s i T == = A 2| o9 e e e e E2

(A) TR d SEaE S FEEE 5 A0 e dmn e

(B) e =i HEFH &g WEIRTR % TEF % 5E9 § HERE % B SEE-99E ' OF 59 9091 A1

(C) =i WRATE TN F @ ¢ H el &g gRui Eeem # b w6
(D) W ditaEl, T AR T IEdT F &F ¥ ATaw gHieE B A w Bg A
SEfeTe =1 TAR O 5T S AFEH T4 wA

(E)  foram atenfefi d sifg® o7 Seumme amars 1 Famr =

= fou o ool § O wE 3w %1 9Ee FiAu

(1) === (A), (D). (E)
(2)  FF@ (A). (B). (B)
(3) @ (B). (D). (E)
(4) e (A). (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (C), (D), (E) only

frfafeas @ 9 FA-9 3-wfamm 99 2 7
4 =

(B) wm

(C)  F=Ew

(D)

(Ey 7%

I f2m m famed § O T8 I W =99 Hi

(1) %97 (A). (B). (E)

- - L o —_—



L) el LAy, (L), (D))
(3) === (B), (C). (D)
(4) == (C). (D). (E)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1 [Option ID = 8197]
2 [Option ID = 8198]
3 [Option ID = 8199]
4 [Option ID = 8200]

A W N -

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T TP F T 270 gF A4 2015 ® #ad fawwm |em-4 ¥ geiad Fefatas 4 9 fe-m 95 amaen
T At

(1) 379 Taweg ST ageed (2) TUTET e

(3) T I \ (4) SR TEER U AGEEA

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1 [Option ID = 8201]
2 [Option ID = 8202]
3 [Option ID = 8203]
4 [Option ID = 8204]

A W N -

Topic:- General Paper_Set1_C
Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socic economic recavery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.

TET W HEGHEE U8 99T T §1g 12 T qe I 2

FHIAFT T FHF5- 19 TaME 201 G599 w1 AYds 370w = g9 i {3 faveag & an o wem
oSl T 2| e = % sifaw 241 | ufern °§ suE 3299 % WY FF G SR T BigE el
TR W A I 2| 379 OF @E 9 F 10 9 | A FH & g% 2 @R 5 AeEar # R w
T SEEAE AW S8 U5 1@ 2| Wed 9% SNl e 6% 4 Fal SAa® 8, I8 U SAayd
TR -3119F Oz Wi 2| 291 W UAF A THY UANEd Bl SO T9ATERN @it aide SN




The

(fadt) @ 7 w= 2 ff v T 9 TEE W T 7, WY 6 7 Y9 TR e 5eAR T 9w W
wEEe HEd gegi w1 ff 3@ w2 9w 3 Afvew gmAdE e fEeE F wd #w ooff g w i
oA % Agcd § e R T 2w T S and SAsfan ol amm e w 2| 3= T8 e o afdesfe
w9 GEFE B wEed 9 Y 2 gdiE e o sieel # WHg-02 Wiel 9% §| SAaUUiE 99 @ @6
wAE & % 400 fafema (40 #rs) & Fi SiEn 1 G 3| fava @ 3 wgEe w2 e
g-Tmr (ifEeE) 9 110 fafeme wufef sen 6t w0 st see wfiome 2 % soo fafemm (so0 =)
A A g S # g FE g =@ T8 A A

major crisis faced by the world since World War Il is in which area?

(1) Industrial (2) Technological
(3) Communication (4) Health

fadi favargg = =iz fava = w=g o1 e 6w &9 4 @ 27

(1)
(3)

__\ Y 1:]‘ (2} o N ﬁ
LIt (4) =

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]

AW N =

1 [Option ID = 8205]
2 [Option ID = 8206]
3 [Option ID = 8207]
4 [Option ID = 8208]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic Tecovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 800

million people will not be able to meet their basic needs.

I W HEEHEE U A1 §H 915 148 T W I 3

HIAFT T FHF5- 19 TaME 201 059 w1 AYdYs 370w = g9 i e faveag & an o wem
¥t A 21 foset o % sifam A1 4 ufern § sw 33vE % WY U ARE SRR W SEE TR
TETET B g 2| O TF §@E F9 H 10 W S SO FH T 9 7R R AeEad w6 ORI
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The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication
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1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1z much more than a health crisis, itz also an
unprecedented socio economi crisis. Stressing every one of the country it touches, 1t has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and dezerted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US $110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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Which continent is least affected by COVID-19?
(1) Asia  (2) North America
(3) Australia (4) Antarctica
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Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1s much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC
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Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, itz also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. 1t has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's soclo economic Iecovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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